ATAEE B KRR 105 B &R S
PP RE A EHR

- eE O B drx  20%
LOx )P EREY kZH LB

e § a3 0 ™

B
O IFRFA AL HFenbH 67 » SHF2ES
73R E RS A AE S o

4.( x )E:‘E'J?é_ﬁ'féi CEF MR ORETRE FFE

pUES - g

5. (O )“i%ﬁ'%#f?‘{”'ﬁ
T A s 4 4 o

6.C x )F 2% 5 LG #rkiad o fpp
Frg s B bR fodhig A A S AT o

OB

TOx DB DE ST A L5~ SRiF ~ 2 Bfrk =

8. (O ipkilge Rz %> ¥ A F M- W - &

«)fll’l’r Fis s pE el Lok dap ’T: %

R AS R REAAT AR T A .
% 1 30%

dFdE TS~ BRE bl g s A3
TR W SR e ? O
1 f£Q2 .33 D4 f -

2. (3 )T 3|~ fh e e xe iy i o e e ?
Dig Q% B % 1 D5k -

3.( 2 )Fifrf FRipE tokAmigds > £F) 5wl
33 P A2 O QEQHE DB

4(4>WWﬁ&§Wﬁ#£&ﬁﬁ%5?ﬁ&ﬁ%

? DB AQHEADXK e

5.C 1 )T 5|vR— Bdsdr i & augds 5N
Do EH—HFTQmF— 74~ ZQe
BRI D+ — BB

6. 1 OM»tdfe i & i de= 58> Toimy A B aw
h? DL B o w YL fE et &
R4 e QA& B s Fo o ArRE QI
s e o 3@ - LG 3L D& PFA chs f

L0 Fien?

a

7.2 )T & P BEP i frieskt B9
i aEQRPBPD4 # -

8.C2)7F wmvi-fadirj » L4 7 DierkQhEQ
W @ixis o

9. C4 )N rigvi- LA F 2 FAY
D10421133122AD166 -

10,3 )F % F? > M Afa &
k- B E_ Fren ? (D35~40mg@35~40cm@
35~40mm@35~40g -

11.C 2 =X 4

720

mz‘\']‘, 75\],'1?

FIEAEP o EZEIT AR~ Y
D% asQr REFQF ED= f 4w -

12.C3 )8 2 pF > e - B BLRIE 58 > VIBFERE

g TOFE 4RO = TE
QF = 1gdixoig + TEkLo

3. CADRF 4 aF= & 2 qrlnx o Likdy™ 7|7
- BIRGRT @A O XQF EQR

B F g

w@ZE o
14.C1 BRI EFE > Tavi- BELEN?2QE &
HEakzREQF ! w5 120 = &

15.C 1 )3
(])mxﬁ'sﬂ*rs—r; T FAEHFQ- 2
F FIRR@ = LFX FIER o



=~ B 50%
1 T m ;}'ﬂr.r-f»' At 1‘»\’( &‘F‘ﬁ’?"gg“ 7};@_@"*;” ¥ ’Eg*#léé‘

FHcn F P o? @5 4%

T it i o @ 4
)R Al A Yt § # 3+
2T A E T A TR RN AT R

LI ] 7
Akpi-  B.ound G &4
D. %  E.sue  F Fi
G. &4  Hiesk X
£ * ¢
A. D, E B. C. F,
N G, H

3. TAAE " 24 P hf %A gA W F R 12%

it“?‘i
\I/

2

<ok

A

S B i

o 32°C | 33°C | 35°C | 30°C
Ak | 209 | 109 | 0% | 70%
Eosbd] KB | EE | e | ME

(g = ”w‘?ﬁ*i‘ﬁ?ﬁ‘b{r?ﬁrﬁ{( FRRL ) e
(DEx FREB7HIMA( 227 ) FEK
MV oa MM AE( TR ) e
(3)%“%‘;??% Frae o =X m"“ﬁ%ﬁfﬁ" E(C20% )
(4)% = » Fm-ﬁlpkiiﬂ‘f‘—}ﬁ# g (Fan )i

(290 F Do

4, T R xR
- 4%

Ebij\/F;’E‘_ﬁ'

D @ /| ® VAR

¥ |C

S E iy~ () ¢ 4%

9 RIREF Tw % THr k=i

6. T % chd g £ L EE ‘?;ﬁ—fg»ﬁ
4%

C % §a

GUE RN TEA 9%

(1)¢ § B E s L (N
() RABE PESE (5

(3)efp b cngs (5 )
(ADpfpErEsd (2 )

o

o

7T&%*%ﬁPM€ﬁ*m—i&$aﬁﬁﬁ@%

%f*r./ 99%
X F pn g = el
e b (V)R Ak R 3]
C Daaigs

(VOB R ade g ig
(VR EF B
(V) g Ak 7
(D= L&

(V) FERBE S
()b AN
(VR T4 30 3%

N

A R

8. (REET FRLR ¢ M e gt o B 0 D FEE S

A 4k

(1) €257 ~F - Hmp-~ L1 5 8% % e
(<t > F3&2 )

()5 5%~ LM ke ~F@HINEIRE AR

.«\!’—-ui’ > Jlit@:é /E’\I«Jf;”

( 9Bt > )




